














































FENCE GROUNDING REPORT

GROUNDING

TM2.23.TG-09-003

FOR TRANSMISSION PROJECTS

5/31/2012 12/24/2014

Date App.:Date Dr.:Drwn. By:

Barry R. Hart

Approved By:

12/24/2014

Date Ck.:

Becken/Hart

Checked By:

Drawing Scale: N/A

5/21/2015

DATE

REVISION

00

Sheet 1

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

FENCE GROUNDING REPORT

CONTRACTOR SIGNATURE: DATE:

LINE SECTION NAME: STRUCTURE NO'S:

WEEK ENDING:CONTRACTOR:

APPROX STATION

OF FENCE

NUMBER OF

GROUNDS INSTALLED

COMMENTS

SKETCH PLAN VIEW OF STRUCTURES

DATE GROUNDING

COMPLETED

CENTERLINE

AHEAD ON LINE

(SHOW FENCE AND GROUNDING IN RELATION TO THE TRANSMISSION LINE. SHOW DISTANCES.)

STRUCTURE NO. STRUCTURE NO.



PG CLAMP

CONNECTING

DOWNLEAD

SHALL BE BELOW

GROUND SURFACE

1

EXISTING STRUCTURE

GROUND SYSTEM

REPLACEMENT

POLE

FOR REPLACEMENT OF POLES AND/OR STRUCTURES

CONNECTION TO EXISTING GROUNDING

TM2.23.MG-02-009

11/16/2012 12/24/2014

Date App.:Date Dr.:Drwn. By:

Barry R. Hart

Approved By:

12/24/2014

Date Ck.:

Shepard/Becken/Hart

Checked By:

Drawing Scale: 1" = 30"

5/21/2015

DATE

REVISION

00

Sheet 1

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 35kV THRU 344KV, T345 FOR 345KV

& GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE

OF ASTERISK (C*_).

NOTE A: THIS IS ONLY TO BE USED WHEN REPLACING A POLE AND CONNECTING TO

THE EXISTING GROUNDING SYSTEM.

QTY.

ITEM

NO.

UOM

BILL OF MATERIAL  (CU Type: POLE)

CU:  C*CT-MG-02-009

IUSA

MID

EA1 1 6000113712
VISE, PAR GROOVE GRND CNCTR BRZ, NO. 2 AWG CWLD

MAINTENANCE ONLY



6

NOTE A

PROVIDE

TEST LOOP

NOMINAL 12"

IN DIAMETER

PG CLAMP

CONNECTING

DOWNLEAD

SHALL BE BELOW

GROUND SURFACE

1
8
"

M
I
N

.

3'

MIN.

4'

MIN.

6"

MIN.

10

9

4 5

2

1

11

12

13 14

8

11

3

3'

MIN.

1
8

"

M
I
N

.

4'

MIN.

6"

MIN.

PROVIDE

TEST LOOP

NOMINAL 12"

IN DIAMETER

11

11

12

NOTE A

13 14

7

1 2 3

4 5

43

1

10

9

PG CLAMP

CONNECTING

DOWNLEAD

SHALL BE BELOW

GROUND

SURFACE

NOTE A

PROVIDE

TEST LOOP

NOMINAL 12"

IN DIAMETER

PG CLAMP

CONNECTING

DOWNLEAD

SHALL BE BELOW

GROUND SURFACE

1
8
"

M
I
N

.

3'

MIN.

4'

MIN.

6"

MIN.

10

9

11

12

13 14

11

115KV H-FRAME STRUCTURES - MAINTENANCE ONLY

POLE BEARING PLATES AND GROUNDING

TM2.23.MG-02-020

COPPERWELD GROUNDING

12/16/2012 12/24/2014

Date App.:Date Dr.:Drwn. By:

Barry R. Hart

Approved By:

12/24/2014

Date Ck.:

Shepard/Becken/Hart

Checked By:

Drawing Scale: 1" = 30"

5/21/2015

DATE

REVISION

00

Sheet 1

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 35kV THRU 344KV, T345 FOR 345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE OF ASTERISK (C*_).

NOTE A: WRAP GROUND WIRE (ITEM #12) AROUND POLE MINIMUM OF FIVE (5) TURNS.  ATTACH GROUND

WIRE CLIP (ITEM #14) AT EACH VERTICAL RUN.

NOTE B: THE CONTRACTOR SHALL NOT WRAP THE GROUND WIRE AROUND THE BUTT OF THE POLE WHEN

USING SELECT BACKFILL, STONE BACKFILL, ROCK BACKFILL, FLOWABLE BACKFILL OR CONCRETE

BACKFILL UNLESS OTHERWISE REQUIRED BY THE ENGINEER OR CONSTRUCTION MANAGER.

NOTE C: WHEN RIGHT-OF-WAY IS SHARED WITH A PIPELINE USE MG-04-020. THE CATHODIC PROTECTION

OF THE PIPELINE WILL OTHERWISE PREMATURELY CORRODE THE COPPERWELD WIRE OF THIS

STANDARD.

NOTE D: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE

USED.  SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH

NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS.  CONTACT

SYSTEM ENGINEERING - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

SUFFIX

-R

ITEM

NO.

UOM

BILL OF MATERIAL  (CU Type: POLE)

CU:  C*CT-MG-02-020

IUSA

MID

5 1 EA

8

1

4

6

3

2

1

2

1

1

1

EA

EA

EA

EA

EA

EA

1

1000910800

6000273770

NUT LCK MF SQ 7/8 BOLT GALV

NUT SQ 7/8 BOLT GALV

1035475022 BOLT SQ HEAD 7/8 X 22 W/ SQ NUT  (NOTE D)

WASHER HELICAL (7/8")6000274612

1036200007 CLMP GRND WIRE U-CLIP 15/16 H

9 1

EA

EA

EA

FT

LB

EA

10

11

12

13

14

6000270110 PLATE POLE BEARING

1007260000

1000909100

GRND ROD 5/8 X 8F CWLD NO THREAD

CLMP GRND NO. 2 CWELD TO 5/8 IN GROUND ROD

2 EA 6000273255 GAIN GRID, 4 X 6-3/4 IN, BONDING, 1-1/16 IN BONDING HOLES

4 6000113712
VISE, PAR GROOVE GRND CNCTR BRZ, NO. 2 AWG CWLD

50

1

20

752373

1023091010

6000251033

WIRE CWLD #2 SOL BARE DSA 40% LC

NAIL CWLD 16D 3-1/2" LNG

CLIP CU GRND WIRE

SUFFIX

-L

1

1

-

2

2

2

1

1

-

4

50

1

20

SUFFIX

-P

STEEL ANGLE 6X6X1/4, W 2x 15/16" MTG HOLESEA2-7

ROUND WOOD POLE WITH

BEARING PLATES SUFFIX -P

LAMINATED WOOD POLE WITH

BEARING PLATES SUFFIX -L

ROUND WOOD POLE WITHOUT

BEARING PLATES SUFFIX -R

50

1

20

-

-

1

1

4

-

-

-

-

-

-



6

NOTE A

PROVIDE

TEST LOOP

NOMINAL 12"

IN DIAMETER

PG CLAMP

CONNECTING

DOWNLEAD

SHALL BE BELOW

GROUND SURFACE

1
8
"

M
I
N

.

3'

MIN.

4'

MIN.

6"

MIN.

10

9

4 5

2

1

11

12

13 14

8

11

3

3'

MIN.

1
8
"

M
I
N

.

4'

MIN.

6"

MIN.

PROVIDE

TEST LOOP

NOMINAL 12"

IN DIAMETER

11

11

12

NOTE A

13 14

7

1 2 3

4 5

43

1

10

9

PG CLAMP

CONNECTING

DOWNLEAD

SHALL BE BELOW

GROUND

SURFACE

NOTE A

PROVIDE

TEST LOOP

NOMINAL 12"

IN DIAMETER

PG CLAMP

CONNECTING

DOWNLEAD

SHALL BE BELOW

GROUND SURFACE

1
8

"

M
I
N

.

3'

MIN.

4'

MIN.

6"

MIN.

10

9

11

12

13 14

11

115KV H-FRAME STRUCTURES - MAINTENANCE ONLY

POLE BEARING PLATES AND GROUNDING

TM2.23.MG-04-020

#2 COPPER GROUNDING

12/16/2012 12/24/2014

Date App.:Date Dr.:Drwn. By:

Barry R. Hart

Approved By:

12/24/2014

Date Ck.:

Shepard/Becken/Hart

Checked By:

Drawing Scale: 1" = 30"

5/21/2015

DATE

REVISION

00

Sheet 1

   Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

TRANSMISSION

CONSTRUCTION

STANDARDS

MANUAL

THIS  IS  A  COMPUTER  GENERATED  DRAWING  -  DO  NOT  REVISE  MANUALLY

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 35kV THRU 344KV, T345 FOR 345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE OF ASTERISK (C*_).

NOTE A: WRAP GROUND WIRE (ITEM #12) AROUND POLE MINIMUM OF FIVE (5) TURNS.  ATTACH GROUND

WIRE CLIP (ITEM #14) AT EACH VERTICAL RUN.

NOTE B: THE CONTRACTOR SHALL NOT WRAP THE GROUND WIRE AROUND THE BUTT OF THE POLE WHEN

USING SELECT BACKFILL, STONE BACKFILL, ROCK BACKFILL, FLOWABLE BACKFILL OR CONCRETE

BACKFILL UNLESS OTHERWISE REQUIRED BY THE ENGINEER OR CONSTRUCTION MANAGER.

NOTE C: ONLY TO BE USED WHEN RIGHT-OF-WAY IS SHARED WITH A PIPELINE.  IN ALL OTHER INSTANCES

USE STANDARD MG-02-020.

NOTE D: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE

USED.  SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH

NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS.  CONTACT

SYSTEM ENGINEERING - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

SUFFIX

-R

ITEM

NO.

UOM

BILL OF MATERIAL  (CU Type: POLE)

CU:  C*CT-MG-04-020

IUSA

MID

5 1 EA

8

1

4

6

3

2

1

2

1

1

1

EA

EA

EA

EA

EA

EA

1

1000910800

6000273770

NUT LCK MF SQ 7/8 BOLT GALV

NUT SQ 7/8 BOLT GALV

1035475022
BOLT SQ HEAD 7/8 X 22 W/ SQ NUT  (NOTE D)

WASHER HELICAL (7/8")
6000274612

1036200007 CLMP GRND WIRE U-CLIP 15/16 H

9 1

EA

EA

EA

FT

LB

EA

10

11

12

13

14

6000270110 PLATE POLE BEARING

1007260000

1000909100

GRND ROD 5/8 X 8F, CWLD NO THREAD

CLMP GRND NO. 2 CWELD TO 5/8 IN GROUND ROD

2 EA 6000273255 GAIN GRID, 4 X 6-3/4 IN, BONDING, 1-1/16 IN BONDING HOLES

4 6000113712
VISE, PAR GROOVE GRND CNCTR BRZ, NO. 2 AWG CWLD

50

1

20

1023091010

6000251033

6000205819 WIRE CU #2 SOL BARE

NAIL CWLD 16D 3-1/2" LNG

CLIP CU GRND WIRE

SUFFIX

-L

1

1

-

2

2

2

1

1

-

4

50

1

20

SUFFIX

-P

STEEL ANGLE 6X6X1/4, W 2x 15/16" MTG HOLESEA2-7

ROUND WOOD POLE WITH

BEARING PLATES SUFFIX -P

LAMINATED WOOD POLE WITH

BEARING PLATES SUFFIX -L

ROUND WOOD POLE WITHOUT

BEARING PLATES SUFFIX -R

50

1

20

-

-

1

1

4

-

-

-

-

-

-

FOR RIGHT-OF-WAY WITH COLOCATED PIPELINE


